

$$\int R(x, \sqrt{ax^2+bx+c}) dx \rightarrow \int R(t, \sqrt{\lambda^2 t^2})$$

$$\sqrt{\lambda^2 + t^2} = \sqrt{\lambda^2 + t^2}$$

$$\sqrt{x^2 + \lambda^2} = \sqrt{(x + \frac{1}{2})^2 + \frac{3}{4}}$$

$$y = x + \frac{1}{2}$$

$$\operatorname{ch} x = \frac{e^x + e^{-x}}{2}, \operatorname{sh} x = \frac{e^x - e^{-x}}{2}, \operatorname{ch}^2 x - \operatorname{sh}^2 x = 1$$

$$x = \lambda \operatorname{tg} t, t \in (-\frac{\pi}{2}, \frac{\pi}{2}), 1 + \operatorname{tg}^2 t = \frac{\cos^2 t + \sin^2 t}{\cos^2 t} = \frac{1}{\cos^2 t}$$

$$\int R(x, \sqrt{\lambda^2 + x^2}) dx \rightarrow x = \lambda \operatorname{sh} t, \operatorname{sh}^2 t + 1 = \operatorname{ch}^2 t$$

$\lambda > 0$

$$\textcircled{1} \int \sqrt{\lambda^2 + x^2} dx = \begin{cases} x = \lambda \operatorname{tg} t, t \in (-\frac{\pi}{2}, \frac{\pi}{2}) \\ dx = \frac{\lambda dt}{\cos^2 t} \end{cases} \quad \sqrt{\lambda^2 + \lambda^2 \operatorname{tg}^2 t} = \lambda \cdot \frac{1}{\cos t}$$

$$= \int \frac{\lambda^2 dt}{\cos^3 t} = \dots$$

$$\textcircled{2} \int \frac{dx}{\sqrt{1+x^2}} = \begin{cases} x = \operatorname{sh} t, t \in \mathbb{R} \\ dx = \operatorname{ch} t dt \end{cases} \quad \sqrt{1+x^2} = \sqrt{\operatorname{ch}^2 t} = |\operatorname{ch} t| = \operatorname{ch} t$$

$$= \int \frac{\operatorname{ch} t dt}{\operatorname{ch} t} = \int dt = t + C = \operatorname{ars}h x + C = \ln(x + \sqrt{x^2 + 1}) + C$$

$$\textcircled{3} \int \frac{dx}{x\sqrt{1+x^2}} = \begin{cases} x = \operatorname{tg} t, t \in (-\frac{\pi}{2}, \frac{\pi}{2}) \setminus \{0\} \\ dx = \frac{dt}{\cos^2 t} \end{cases} \quad \sqrt{1+x^2} = \frac{1}{\cos t}$$

$$= \int \frac{\frac{dt}{\cos^2 t}}{\frac{\operatorname{tg} t}{\cos t} \cdot \frac{1}{\cos t}} = \int \frac{dt}{\sin t} = \dots$$

$$\int R(x, \sqrt{x^2 - \lambda^2}) dx \rightarrow \begin{cases} x = \frac{\lambda}{\cos t}, t \in (0, \pi) \setminus \{\frac{\pi}{2}\} \\ x \geq \lambda \rightarrow x = \lambda \operatorname{ch} t \\ x \leq -\lambda \rightarrow x = -\lambda \operatorname{ch} t \end{cases} \quad \sqrt{x^2 - \lambda^2} = \sqrt{\frac{\lambda^2 \sin^2 t}{\cos^2 t}} = \frac{\lambda |\sin t|}{|\cos t|}$$

$$x \in \mathbb{R} \setminus (-\lambda, \lambda)$$

$$\frac{\lambda}{x} = \sin t \in (-1, 1)$$

$$x \in (-\infty, -\lambda) \cup (\lambda, \infty)$$

$$\frac{e^x + e^{-x}}{2} \rightarrow \operatorname{ch} x$$

$$\operatorname{ch} t: (0, \infty) \rightarrow (1, \infty)$$

$$\textcircled{4} \int \frac{dx}{\sqrt{x^2 - 1}} = \begin{cases} x = \frac{1}{\cos t}, t \in (0, \pi) \setminus \{\frac{\pi}{2}\} \\ dx = \frac{dt}{\cos^2 t} \sin t \end{cases} = \int \frac{\frac{\sin t dt}{\cos^2 t}}{\frac{\sin t}{|\cos t|}} = \int \frac{dt}{|\cos t|} = \begin{cases} \int \frac{dt}{\cos t} & t \in (0, \frac{\pi}{2}) \\ -\int \frac{dt}{\cos t} & t \in (\frac{\pi}{2}, \pi) \end{cases} + C_2$$

$$\sqrt{x^2 - 1} = \frac{\sin t}{|\cos t|}$$

$$x \in (-\infty, -1) \cup (1, \infty)$$

$$dx = \operatorname{sh} t dt$$

$$x = \operatorname{ch} t, t \geq 0$$

$$x = -\operatorname{ch} t, t \geq 0$$

$$dx = -\operatorname{sh} t dt$$

$$\textcircled{5} \int \sqrt{x^2 - 1} dx = \begin{cases} x \geq 1 \\ x \leq -1 \end{cases} = \begin{cases} \int \operatorname{sh}^2 t dt, & x \geq 1 \\ -\int \operatorname{sh}^2 t dt, & x \leq -1 \end{cases}$$

$$\textcircled{1} \int \operatorname{sh}^2 t \, dt = \int \frac{\operatorname{ch} 2t - 1}{2} \, dt = \frac{1}{4} \operatorname{sh} 2t - \frac{t}{2} + C = \frac{1}{4} \operatorname{sh}(2 \operatorname{arsh} x) - \frac{\operatorname{arsh} x}{2} + C$$

$$\sin^2 t = \frac{1 - \cos 2t}{2}$$

$$\operatorname{sh}^2 t = \frac{\operatorname{ch} 2t - 1}{2}$$

$$\operatorname{ch} 2t = \operatorname{ch}^2 t + \operatorname{sh}^2 t$$

$$\operatorname{sh}^2 t = \frac{\operatorname{ch} 2t - 1}{2}$$

$$\int \operatorname{ch} u \, du = \operatorname{sh} u + C$$

$$\int \operatorname{sh} u \, du = \operatorname{ch} u + C$$

$$\textcircled{2} \operatorname{sh} t = \frac{e^t - e^{-t}}{2}$$

$$\int \left( \frac{e^t - e^{-t}}{2} \right)^2 \, dt = \dots$$

\* Ojnerpobe cmohe:

$$\int R(x, \sqrt{ax^2+bx+c}) \, dx$$

$$\text{I; } a > 0 \Rightarrow \sqrt{ax^2+bx+c} = \pm \sqrt{a} x + t$$

$$x = \frac{t^2 - c}{b \mp 2\sqrt{a}t}$$

$$\textcircled{1} \int \frac{dx}{x + \sqrt{x^2+x+1}} = \int \frac{dx}{x + \sqrt{x^2+x+1}} \quad \sqrt{x^2+x+1} = -1 \cdot x + t \quad \uparrow^2 \rightarrow t = \sqrt{x^2+x+1} + x$$

$$x^2 + x + 1 = x^2 - 2xt + t^2$$

$$x = \frac{t^2 - 1}{1 + 2t} \quad dx = \frac{2t(1+2t) - 2(t^2-1)}{(1+2t)^2} \, dt$$

$$= \int \frac{2t^2 + 2t + 2}{t(1+2t)^2} \, dt = \dots$$

$$= \int \frac{\frac{t^2}{x+2t} - \left( \frac{t^2-1}{1+2t} \right) + t}{x - x} \, dt = \dots$$

3a Bestdy

$$\textcircled{2} \int \frac{dx}{(1+x)\sqrt{x^2+x+1}} = \int \frac{dx}{(1+x)\sqrt{x^2+x+1}} \quad \sqrt{x^2+x+1} = x + t \quad \uparrow^2 \rightarrow t = \sqrt{x^2+x+1} - x$$

$$x^2 + x + 1 = x^2 + 2xt + t^2$$

$$x = \frac{t^2 - 1}{1 - 2t} \quad dx = \frac{2t(1-2t) + 2(t^2-1)}{(1-2t)^2} \, dt$$

$$= \int \frac{-2t^2 + 2t - 2}{(1-2t)^2} \, dt = \int \frac{2(t^2 - t + 1)}{(1-2t + t^2 - 1)(t^2 - 1 + t - 2t^2)} \, dt = \int \frac{2 \, dt}{t(t-2)}$$

$$= \dots$$